R e (H Unit)
frmraf : 2017-2018 [Set-2]

07. = o 6 2 m @R TF 5 mm | SGER WG |WRA

A. 0.01 B. 0.02

01. Sremsyt C. 0.04 D. 0.05

A. cleeriten asfb a7 B. wzfiven a=fb serf 0.0

C. cReniea cara 71§ D. SFTeT GieeTs %% T '

: ql: o = =—=— =(.02

[t : s (Milky way) @5 wree | ceesites 58 02
O AT W 2
Ans : B. Ans : B.
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6 = 2t T 97 TF 0.01 mm I AN 9 WG
10% 3@ 171 | TR WS T2

02. &N TP 640Hz ¢ 480Hz Tt 46 % ww0m
SILRTGR #E 1 m T & WO N ST (@ 67

A. 1940 m/s B. 1290 m/s
C. 1920 m/s D. 2100 m/s
o hixb _640x 480 i oo
W-v—fl_‘fzx —mxlwlmigj‘s -
Ans: C. AR S e 1

3 37 Bofa 5 N 31 wR T S 5w e | o

To 60° P 4 N 1 TPt 31 T SFONTH JWHTS
T AT A T

A.3N B.7N

C.65N D.2N
agt: F=F, + F, =5+ 4cos60° = TN
Ans : B,

"R T W w@m e e esrer
Freriififes mafk = - ot FreTEr @ e

A. 293 5@ B. fadin 5@
C. g1 7@ D. 53¢
Tt : I -

® 3 @ : ﬂmvﬂamwﬁmﬁrﬁmmﬂ
Frernfafes crorme ==y 27 |

. W : mwaﬁawﬁc@ﬁwm-ﬁ(em.ﬂ
@ 767 RSy e @I @3 O T B e
+ief3B gy, e eerwrer Jenfafe e s |
Ans : A.

215Q @ a3 s 2 0.8A R BT | oF R
eite e ik wer

A. 170V B.172V

C.312V D. 425V
JIg: V=IR=08x215=172V
Ans : B.

M8 cwimp com R TR T 3 St St 321
A.80=m B.S0®s  C.273%s D, 100 S

[ = atwrrm oft o3l we! con w0 | 7% oftm vt ot
T T TR O] I, TG FUD OHT (O FACS A2
A.2 B. 8 C.4 D.3

! : GF: @I IO n AT T (B I AR | 97

Mvwm@m%mm nxv

nxV=1xQF=48
Ans'C. : ;
. lgmmﬁwwr
A.3x10"] B.9 x 10"
il B0 U D.5 x 10"]

Tt : E=me’ = (1 x 107) x (3 x 10%)=9 x 10"]
Ans : B.

10, 1g S @af® w1 2000 /s ot A | b T
TefAE ST SIAG T

A.3.315x 10*m
C.3.515 x 107**m

B.33.15 x 10**m
D.3.135x 10 ¥*m

_ E A e : :
~ (1x107%)x(2000)
LAns : A.

M 120 @fe s < i 20 mvs o e i
49t O TR S 120 3 e AR 5 m/s e | etk
= &9 M e oteer @8 M7 @t 7o z@r
A.10m/s B.20m/s C.50m/s D.25m/s

[t myu; + mpu; =m'1\"1 +msVv;

= (120 x 20) + (120 x 5) = (120 x 0) + (120 x v5)

= v, =25m/s

Ans : D,

12. 30 m/s A 5ifre =6 1 @@ 9 30 bR vorw =
a7 Tt W T A | nfea gat vy
A. 30 m/s? B. 90 m/s*

Y : o AL (FATS T Yoo ST SI% 31 T |

o FAAZIRG (FATE STAH 5 ONet G5 a7 24 |
Ans:D.

C. =30 m/s® D. —90 m/s’
T : v =u’+ as ; »

30
i (2] o

: =-11.25ms™
2s 2x30

= a=

Ans : Blank.




: 2017-2018 (308)

T S N | 1T (1
“’-*-——-———_—.-m

13. 3 o e Beoreew fite 49 /s oot fowst =t T

FOH O G @ P A

A 2s B.3s

C.4s D.5s
IV :v=u—gt—=t= : v=£_-9-—53
Ans : D.

14. 1.4pF g o=t Temdte wwm ofifam 9be sug

[t - o et o8« 72 (o vz = e |
o ME : 79w o1 FiET W orere AW A
o BT 3 T AP AL (7 B 2 |
o R A ;T O @T T el Ty Sy ey
BIFE FECE A =B (AATS A A |
Ans: D.
20. =i TgTw 640Hz ¢ 480Hz Tmea 4 % waom
STRCATGR T 1 m T & T W S (@ I

1500 V ez 6y A 41 e =+ 7o) A. 1940 m/s B. 1290 m/s

€ 4.51l 1 D. 6.89 ot V__x_t{: ;(;‘:gi:gg“:lgmws
B:Umicv%-fxx.u10‘5x(1500)2=1.5_8.l SR
Ans : A | 2] e e Rererds v ey
B 30 were e aww 10Q @wE e s Fwo A. fift B. 379

0.5 A &RIE 507 | CHITea Soms % Fer C. gfie D. R

A 15V B.65V [T : e -

C.45V D.25V i % [ ww | Redre =
A:E=TR+1)=05(10+3)=65V | m | wgm | efeem |
Ans : B. whE | AT [ Tomw [ weww
16. 20 W ST I U B (4TF CRTY OTA TP TS TR il o | A, | Wi | W

ns:
g gy 22, TERR w3 % 3¢ cor
€5 D.7 g 7ot
C. *ff¥ D. wf&w
Y :v=u+gt=t= ,‘"“='19-,,“'-9-=55_ e : ¥~ :
‘ B O T - v, mw e, o4
ans 3 T - o, wa, e, e, e
.ﬁm@mwmﬁm@mam A - Wﬁmwmﬁl
A. FfibE B. S Ans:A.
C. @ferda D. i+ferta 23. a3 Y AP P memﬁ‘
T : » WD 4 T e E Aaﬁm B. foz= C. femamt D, 7o
o GoETR R wRISE | TG g owgyf @F I
-mvﬁmmmwmr-- | U N (@ - O o TR O - @
o Gt faade famme e ot | o o7 @2 g - e o off¥m o - 3w
Ans : D. L Ans : D.
b TRTETR ot 3 vt (o 3 | 7 o i et | BN oS v I Side e

T W O O GFE WG T TS (S FAS AR A, «fzdt B. =78

A.8 B.2 C. fafid D. =it

C.3 D. 4 m,wwﬁ*wm_

TY! : BFRAT: 93 T 0 A T (7 FACS AA | 4T faoef e 3dfifer Gt sfefey]
G v %4 3 T A THT (67 TS AR =n x V- B PRH | oot | et | weemm | @ee
Laxvi=1xQF =48 Ans: C.

Ans: D. fesa caor el Siett wrat zve et SR e R
19. 5N T I T (A0S 1Y W I W 99 i A, A. of% B. 5% C. 5 D. 51

BN & FHE T - | T « g Aoy T -

A. R B. st w2 o i1 - 51, fBfA1, forp | ® SR - qfE, 36

C. #id g2 D. @y o O - 5T, BT, CI Wi | o SeME - fo, wfRve |

Ans : C.




26. Adjectwe form of the word 'west' is-
A. lateral B. occidental
C. oriental D. vernal
P! : Occidental - 99 = western (*%51%7) @M adjective
woRfE west @9 =% 71 23 adverb.
s:B.
What type of noun the underlined word is?
Check the beast in you.
A. Common
C. Proper
T : Beast - o, SHAE
@4 beast ¥R W NE A WL A 930 w1978
e | o3 @ft Abstract noun.
Ans: D.
The antonym of the word 'cacophonous'is __ .
A. melodious B. resounding
C. resonant D. sonorous
et : Cacophonous - 334 |
Synonym: Discordant, Noisy, Sour.
Antonym: Quiet, Melodious.
Ans: A,
29, was not clear to me.
A. Why he went there B. Why he goes there
C. Why he gone there D. Why he will go there
Pt : 4 clause past indefinite tense T RRE
clause fbe pastmdeﬁmte tense 2T |
Ans: A
30. Which of the following masculine feminine pair
is incorrect?

B. Material
D. Abstract

A. stag :: hind B. swain :: nymph
C. buck :: sow D. monk :: nun
[t :

Masculine | Feminine | Masculine | Feminine
Boar Sow Swain Nymph
Buck Doe Wizard Witch
Monk Nun Rake Jilt
Stag Hind Poet Poetess

Amns : C.

: 2017-2018 (309)

1 A book of
A. me

has been lost.
" B. mine O | D. my
eyt : Preposition «& 7T pronoun <= possessive form 2 |
Ans : B.
34. Which of the following word is correctly spelled?
A. propheci B. embezzle
C. collegue D. comprihensive
[ : FF¥ - Embezzle.
«%* WK BE correct spelling: Antipathetic, Jarring,
Cacophonous, Dissonant, Inconsistent.

Ans : B.
35. The box is too heavy for me .
A. to lift it B. to lift

C. that I can't lift it D. so1 can't lift it
/Yl Structnm.em-l-ad;emve +to+v~ﬂ§base form
Ans: B. '

36. Life is ever veiled ___ mystery,

A. with B. to C.in D. from
gt : Veiled in mystery - mysterious or strange (S0 5i<1),
Ans: C.

37. Translate the following sentence into English:
T w9 T
A. The work is finishing B. The work is doing
C. The work is done D. The work is being done

(et = =i =1 = <= AP translation 27-

The work;'is.bein_g done.
Ans:D. ]
Past participle of 'tread’ is .
A. treaden B. trodden
C. trod D. treat
W Tread - 2161, STQICA! 341 |
Present Past Past Participle
Tread Trad Trodden
Ans : B. Frh
] The synonym of the word 'lethargy’ is
A. serenity B. tranquility
C. active D. laxity

31. Which of the following sentence incorrect?
A. The tiger is too strong
B. He has no taste for music
C. He reached at the station
D. He will finish the work within a month

Ans: C.

QY1 : Reach w4 ¢+, ©1 reach =71 at 3 AT (33 |

32. How

he is !

A. a very nice boy
C. a nice boy

B. nice the boy
D. nice a boy

Ans : B.

MGt : Strueture : How + adj. + noun
wiéie How nice the boy he is!

1 : Lethargy - ©71/78 |
Synonym : Dullness, Idleness, Laseity, Sleepiness.
Antonym : Energy, Liveliness, Vivacity.

Ans:D.
tll} His brother along with his friend _____ come.
A. has B. have
C. have to D. having

NG : Accompaniment: 9% 3 9F(4F subject & @ ITF
¥F SF accompaniment I | Accompaniment &9 ST
subject wad verb A |

Accompaniment FZ @1~ Along with, Accompanied by,
Accompanied with, as well as Ze71f# |

Ans: A.




1 1 i
A.E(x—cosx)-%c B.;(x+smx}+c

C,%(x+co,~x)+c D.%{x—sinx)+c

&

T - J.ooszg dx
= %IZmSZ%.dx= %I(Hmﬂ) dx

= lIdX“l*lj‘COSX dx=i+smx+c
2 2 Z 2

= %(x+sinx)+c

Ans : B.
Y = 3x RO, X — W% R x = 2 99 WS o
R TS
A 12 B.2
C.4 D. 6
TN @i, A = (0, 0)
B =(2,0)
y=3xeR x =2 AWM @ARYC=(2,6)
0 01 Yo
AABCmamzlz 6 | 4o
22 0
1 Aoy B.m
= —x12
2
=63 w3
Ans: D,

43. 7:15 fafiby vy 9% e ffidy =R TS @R
AR TP 9T I g

A. 120°30' B. 125°15"

C. 120°15" D. 127°30"

[ 301 - @<, 7:15 RS <001 @ A7 Fh@ S4Re o,

0= Hx15—30><7'

2

=[-127.5| =127.5° =127°30'

Ans : D.

44. 7% x = a(0 — sind) R y = a(l — cosd) T, TR j__\«':?
X

A. ccot9 Iitan9

2 2

C. sin E D. cosE
2 2

: 2017-2018 (310)

TN : x =a(f - sinB) @@ y = a(] - cosh)
a3y LY a(sind)
Cdx  Xx@WSIRRE 0 oo00)
ZsmEcosE
:.—2...9_._2__—_,00t_
2sin? — 2
Ans : A.
tan20.tand = 131 0 = ?
A.E}=mc+§ B.G=mr—f_E
C.El=m't+E D.G=nn—-§
[t : tan 20 tan B = 1
3 zmnza'-mBEl
l—-tan” 0
1, 2 tan’® = 1 — tan’0
1, 3 tan’0 = 1
91, tanf =+ L=t1;a.n &
3 6
L O0=nnt il
6
Ans: B & C.
46. ABC farget cosA = sinB — cosC T, farge® 7. |
A. Tafers fags B. are fags
C. saa faes D. =5 71

TN : AABC (& ZC 71 T, cosC =0
@R LA=7~(LB+LC)= 12‘--43

.. CosA = cos (E—B) = cosA = sinB

.. cosA = sinB — cosC [ cosC = 0]
Ans: C,

11! QN LA 1!

Rrufrem of¥ sifrwry o ¢ citant exfs’
b e wwma oo et

11! (99 [T 11!

G LI
¢ oz ©fF A (Rem, awfe, a=om fre)

¢ Tfre ¥ Reefmrrerm




EEC N R [0 o

e [0" 2 52. x=rcos30°, y = rsin30° G X’ + y* = 4 701 r @& TH T
wﬁA—{ 'LWB= 1 2 &, SAB="? A2 B.3
4 5 6J g %] C.1 D. 4
3 3 4 N : X + ¥ = 4, = r’eos’30° + Fsin?30° = 4
7. 53 ;e '
{5 12J [5 2} :rz.%+r2.-%=4=>r2=4=:vr=2
cil® 4 p.|? 3 Ans: A, :
i § i - a1 53. 1+3+5+7+9+... q=ila 1197 *% */48 e o7
e et o
T/ : AB = "3 % . — '
L 5 6} Pt Yt : @A, a= 1 G- d=3-1=5-3=2
_ [ x0)+@xD)+(Bx0)  (1x2)+(2x2)+3(-1)] n S *FF e, S, = lf—%2a+(n—1)d}
(4x0)+(5xl)+(6x0) (4x2)+£§x2}+ﬁ(—~l) PR
2 3 g _ .-.11wmﬁmﬂ,su=~‘-2—{2.1+(:1—1)x2_}=121
[5 12} g | | |Ans: : '
[Ans:A. A 54 (x+y. 1) 4R (3, x — y) TS 7B TR T, (x, 3) -
48. 127 rRfE «3f ywen sewer @ fRgefr st . 97 T TSP
M‘mmﬂﬂw WWWf K1=2 —1) B. (_2, l)
é‘ 2'513 [B)' gf}“ C.(2,-1) D. (2, 1)
: ; I x+y=3;x-y=1
Fl : = il ;
:‘T..:mﬂww Ci=220 @I AR, 2x =4 =>x=2
49. 128 3w o 5B ad oo 3B e o 2B wed | [0 0 Syl _
A' ’4“26'0?@3“ mw";’ AL 55, RPN RGP HA (-3, -1, 0, 3}; FA—R TeHR
i <9 () = X" + x+ 1 W1 e 1 f{x) & @o @HD?
C. 24600 D. 62400 A (7, 1, 13) B.(3, 1, 15)
TN : 126 e e 3B @ 7P, @ C.(7. 11, 13) D.0.1 ‘13)
58w v 28 @ °P, B Few = ot v A :
. e e = 2y x ;= 26400 i o
An’ B. CR-3)=9-3+1=7; f{—l)*l—l+l—l
50. AMERICA b3 *Hevis «vm Fe #o aorm .f,(u) 2?70‘:11;;1 g“") i
bkl Ans: A.
A. 2250 B. 2520 1|
C. 5520 D. 2200 lim — Nl+x—~ﬂ~x}=?
TGt : AMERICA *t% 71 39 @9z 407@ 7040 A 26 | AT B.2
: :
-, TRt et = %=2520 C.4 o W
Ans =B, g -Jl+x-—«u'l—x
1+x is x—m
% (]_x']3m i o (‘JI+K 1/! x)(\/l+x+1/1 x)
A.212 B. 211 ""'“ %
Cizt. D. 112 ST Lt e L
s H"x(\fl«i-x +J1-x)
gt : oy @7 Rpfere X" g wmet = 2r + | Ve 2 ik
-—x = =
x0T =2x10+1=2] - *"°J1+x+1fl -X 1+1
Ans : Blank. AR




LR BRI R L
(Bl 3 - 2x-1 = ( TIFebre x G T 1 TE WD FOr

: 2017-2018 (312)
m 2x* + 7x — 4 = 0 e x @3 T F2

A 12 B.-1/3 1 (1
C.-2/3 D.0 A [:“4] = L_EAJ
BT+ e T = — -2 , C.(-4,1) D. (-4,-1)
3 TN 2x° + Tx—4=0
e e v =2 +8x-x-4=0=(x+4)(2x-1)=0
3 3 Ak
Ans:B. s
x Ans : A,
53 | fl1-= | dx=?
\’[ 2)”{ 3] lim 2 =2
3 =T —X
32 = =4 =
g 13{“% . B —%[1—3]2% A1 = B. -1 .12 D. -1/2
- : !]l‘m: limsmx'.= 1 c,psxzcosx =
1 X\Ix:z 1 ¥ 3/2 X=>nM—X K--m()-‘--l 0-1
&4 ;[I-3| +C D. —5(1—5} +C Ans:é.._
£ . 63. HTIU wwers Re @ voef fog fog = 15 =t
$ —i+l . qH? '
: J (1—§J A. 12 B. 24 C. 60 D. 120
Tt J(l—a*)'dxw—l"_-—lﬂ Tt : [ITIU =i 5% e @4z amie T | 3o 2f
—4] |oxi==— !
Ere el o
3 =
4 4( X E+c Ans : C. [
3 64. I v ITERR TS (=1, —+/3 ) R IR EE
Ans : B : (r, 0) T r 97 TF F©?
% 057 b =i g el Al Sy _
AX+yY-2=0 B.xX+y+4=0 et -3)
C.x'+y -4=0 D.xX'+y +2=0 ,_!{x syt =aT+3=2
TN e R x4y +2gx+ 2y +e=0 b,
x=09Ry=0FIH w7 77 (-g, ) = (0, 0) #5. (0,3)ﬁqu 5 @R o e e g Ty
4%, AT 1 x* +y £ 0= 0 j A3 B. -3 C.5 D. 4
ats (0, -2) few g =@ 412, ¢ = 4 3 —
ARG CHR S Sy T : (0, 3) TS x — 5 = 0 9% WefFe mwa
Ans: C. Y L 0
J"“““"" dx =2 V12 +0?2
X Ans : C. ;
A.lnx [In(lnx)-1]+¢  B. lnx[ln(lnx;—l]m | & 3x" - Ty = 0 R TFH YD IO
X
1 A [3,1]13. {1.0] C, [n. 1] D. (1,7)
C.lnx [In(lnx) + —]+¢ D. Inx [In(Inx) + 1] +¢ 3 12 12
X
7
. 2_ = = e
||l=ﬂﬁ,lnx=ztm,—l~dx=dz ot 3 - Ty=0=x" 4.12y
3 X
7
2 - =z 2
i J-ln(lnx)dx___jmzdz B8 e awE X° = 4ay 99 HTA I I A1, a
X

12
=hxIn(lnx)—Inx+c=Inx [In(lnx) - 1] + ¢ .'.E’M(G,a)=(0,l-)
Ans: A, 12

Ans: C.




(B " - 10y + 5x = 0 *rrgees ¢ Rz gtee o
A.(0,0) B.(50) C.(-55 D.(5,5)

68. a=-2i+4j—4k @ b=—4i+2j-4k o coh @
AT WEES (I O T cos® A AT TS
A. 4/9 B. —4/9
C.12 D. -1

3 e x WO MY 225° G Beoly 0 | D W
y F curE 3T weoem e 3 g g7 e iy

A.y=x-2
Cy=x+2

3 ﬂw
A.6
C.4

X+ 2x - 3 @ g(x) = 3x - 4 T A

71.

f(x) =

e (gof) f(2) @7 W7 F&7
A1l B.9
C. 3¢ D. 1

| H: 2 2018 (313)

72. f) =X + 20 + 3x +7 @ TW (x ~ 2) Q(x) + ¢ W&
T TR A Q(x) T FIH, SR ¢ T FS?

A.-1 B. 1 c.2 P.-2

z-x‘— x+ 1 =0xﬂ‘m(1,1)m
worfd Fo?
A.2

C.-12

B. 12
D1

&9 (1, ) , y . L 0,
3) e geanlwmt &y

74.

A x*+y-2y-3=0 _ B. X +y -2x=3=0
C.X’+y-2f+3=0 D.xX+y-2g-3=0

B A, B, C o wifiw @ Cley) = Alayls x Bibyles
T (m, n) 99 TF FS7
A.(4,4) B.(3,5)

C.(5,3)

AL, 2), B(=3, 2) @ C(0, 0) T TRwg (0% A R
B.v5

Y F7

- A2 C.1 D.0

C.3 D. 15




78. [2x + 1| <3 T x AW T2

“ H:2017-2018 (314)
04. 9% YR 4B FN: ‘T TR GO TS TAE

A 2<x<l B.-2<x<1 A, o B. ciffeega
C.-1<x<l D.-2<x<2 C. et D. w1
T : 2x + 1] <3 T : R oEGS % I &I

=>-3<(2x+1)<3
= 4<2x<2=-2<x<1
Ans : A.
A(0, 3) B(0, 7) @ C(1, 1) < firgrem o= TRy
T AABC 93 (vaes 997

A. 21 B.112  C.52 D. 9/2
1o 01
TG A= =1|3-7|=
2 R
A A.. s {!’*4‘

M v =mx + ¢ G @ @ g o (3, 0) @ (4, 0)
3 g e T S W y wewe 3 woet 3wy
A0 B. 1
C.-1/2 D. 172

I : y TF TS <o Wl = cﬁ#mvlﬁumwu

Ans : Blank.

wReR fiRvier (H Unit)
firrag : 2017-2018 [Set-5]

MR il wowm #fiw o @Eby

A, TSq B. ﬁ'ﬁ'j‘% ¢ ’ﬂﬁ
T : 1R ST TGS - :

o fRuge - fawrt, i, R, wasrst |

o S} - W, 3, o, gOr, W

o TP - W, G, s, o, el |

« Bff - 7w, 5T, wEERE, w ?

o 53 - o, *f 53, 9, W5ad |
Ans : B.
fesa o TR e e

A. et

C. Rt
P!« FE 9 -

kb

e
R | o
Ans : D.
03. ‘wane = Redreds == e
A. T B. wgd
C.7% D. 5=
T = ﬁuwwfmm-

mﬁi‘f

SR
wfow

D.ﬁﬁ

B. gefe
D. T=are!

TAR | SO

SR | wreren

kil

YA

Rndre =%
23

UL

bl

ﬁﬂ
e
T

£

C. tailor :: seamstress D. horse :: mare
BB
Masculine | Feminine | Masculine | Feminine
Ass Jenny Ram Ewe
Dog Bitch Tailor Seamstress
Drone Bee Fox Vixen
[ Ans: B.
Past participle of 'mend’ is
A. ment B. mend
C. mended D. mending
gt : Mend - (TS #4941 |
Present Past Past Participle
Mend Mended Mended
Ans: C.

o (@ T @I T AW TEAE - S |

o G A TR L UM - @R |

o IR PSR W WA IR G - T

o G A ST A 0 A - o

o @ TR of woas @ o - s

LAns : D.

05. ATsa cot =i AEHTer el TS e SrAw @I FECE?
A. 3G B. @Rt
C. ure1 D. o

TG 2 & TGN - SO, WA, W, AT, W,

werfa, 3R | _

o T - g, PO, oot G

Ans: C.

06. Which of the following word is correctly spelled?
A. rhinoceros B. suggesstion
C. hipopotamus D. vulger

gt : Correctly spelled @ Rhinoceros

@3 f¥g correct spelling : Apparently, Assassination,

Aggresmon,B:zante,Cmons,Ecstasy Firally.

m What type of noun the underlined word is?
""Water has no colour of its own.
A. Common B. Abstract
C. Proper D. Material

@%7- Gold, Milk, Sugar, Water, Soil, Soap, Oil, Iron Etc.
Ans: D.

Which of the following "masculine :: feminine"
pair is incorrect?
A. swain :: nymph B. ram :: shrew




[0 He had his hair _ :
A. cut B.tobecut C.tocut D, cutting

WM : Causative verb have €3 (%8 structure :
Have: Have + person + (verb <% base form)

Have + thing + (verb «7 past participle form)
Ans : A,

m—l want to have it within a week.
A. todo B. do C.done D. to be done

It : Causative verb structure :
Have + thing + (verb 43 past participle form)

Ans : C.

He is senior me.
A, from B. than C. by D. to

M1 : Senior, Inferior, Prefer, Prier, Superior €¥&
¥ preposition A than 71 367 to 907 1

: 2017-2018 (315)

WM : Repulsive - sy
Synenym: Hateful, Horrid, Obnoxious.
Antonym: Alluring, Disgusting, Grim.
Ans : C. .

The synonym of the word 'disperse' is
A. enumerate B. sonorous
C. uproarious D. muster

TGt : Disperse - efew fefbra oo |

Synonym : Disburse, Dispel, Diffuse, Disseminate.
Antonym : Muster, Gather, Arrange.

Ans:D.

21. ¥R T Gl WMo S bR el @ 350 R/
CFE [@UF T3 Beoig I | wom <3 WO @7 @t

700 fSOR/CTFS T & T TR 100 I

Which of the following sentence is incorrect?

A. He was accused to  B. I have no contact

~ C. He excels in D. Your plan is adverse to
[N : Accused of - Wfeg® #711 accused @7 7w

Preposition &= to 70 =1 wﬁmmnectm(A)

Ans ; A,

The antonym of the word 'repulsive’' s

A. refulgent B. effulgent

C. alluring D. meek

Ens : D. S A M
is known to him. A 1200m B.1000m C.10m D.I120m

A. You are clever B. That you are clever o s Y - -
C. That you clever D. You were clcver et -‘.’.Z.uh-akzb R, = x5=10

TGt : Nominal that clause structure - ) vi et S

That + sub. + verb + obj. +verb+obj/cxtmmm. . 8= N).=-%190x10—‘1000m

Ans : B. Ans B.

14. Translate the following sentence into English: B e m 5t @f "o ¥g 0.09kgm ™ Tm
T o T @ i
A. Let the work done B. Let the work be done a gl Wm;
C. Let the work to be doneD. Let the work be doin A. 1939.38 m/s B.'1839.38 m/s

M1 : Passive voice 979 (%@ let 93 T4=T rule " C. 18.3938 m/s D. 19.3938 my/s

let + sbuject + be + done (Past Participle) 18105

L 20 5 IOTRAB T aae s

15. Adjective form of the word 'youth'is ____ P L h ST
A. infancy B. minority
C. ﬂhlldhood D. Juvenile | ¥t Rene e s «imr

Ans D. Frea
The court acquitted the man his debt. i DB oo
A of T m TN : T oS e G <RI FTeE A |
C. from D. tp Ans : A.

I : Acquit of - I& cret, TP GreRT | 24. 0.4m’ RS @af o7 4 x 107°T Few Grverwam e

Ans: A, 30° vt | e Wy i iy Give e e A

17. The man did not come again A.4x10° Wb B. 8 x 10°Wb
A. didn't he B. was he 6 6
C. did he D. was not he C'i"w% Debi 1) Wo

M : Tag Question 97 structure SI- V)24 = Bonel)

Did angu i : =04 x4x107° x c0s30° = 1.385 x 10~ Wb

id not Did=z 1 Ais Sl
Ans : C. -

25. @36 omw WG 2m @ TP Smm | WG wWRT ™
AR T SRMT G 10% I/ % | TR oy

0.02 Zt7, 931 I FSRF LA A
A. 1.0mm B. 0.01mm
C. 0.0lm D. 1.0m
dL o-Dl 002><5x20
i | L 200
Ans : B,




_II H: 20172018 (316)

A. B9 B. @z «fe¢ C.wwew D. oG
TANG! : T @AfeAT : (AN PIPOR SIPWIl (4 (68 171 @
e ey zn | wdi sy +fE g A |

Ans : B,

28. wiwEl (¥ hnfae I IR ol g I
A. @fGe srenfy B. sfaafirs sfyerfy
C. TR U D. #f¥@ sy

AT < ST GO 7T 31 W A1 e O A S o
mﬂkway)laﬁmmmcﬁﬂmmh“ i
Ans:D.

29. qﬁﬁwwﬁwﬂlﬂrﬂﬂﬂmﬁqﬂww
e 12 pC sk wimen s e st Ay 331
A.1.09] B. 1,99 C.2.64] D.489]

M Gefebem oo e Ao

A. a3y I B. maqﬁsm > =

C. 393 | D. G4z A Tt
—mwwummm ¢
A1 T T | Ans : B.
Ans : D: 35. 30 =fer =G= memmmm 10
W] e efrEm c core A oIS *1 T ¥ Fe ~1ear
. mmmm—l A.490 ft B.98m C.49m D.490m

W=h=vot-+'_:l,"gtl='0-i_-_% x 9.8 x (10)* =490m
Ans: D,
36. 30 m/s @ BifFre 3 i @ s 25 ot vore o
o7 ST 7R Tt I I | oA T T2
A. l6m/ss B.-16m/s* C.10 m/s* D. —10 m/s®
TG : v = vy - 2as

= (%*-&9)’ =(30))-2ax25=a=16ms>

37. 36 e GTen owE W 3x9.8 m/s @t Fewe T
T 3 OIS 7 3% 7@ Tom By
A.441m B.429m C.49m D.459m

T/ : W=QV = 12»;l()"s:»('.ZZ‘.'fixl(li3 =2.64]J

Ans : C.
mmammﬂﬁvemmwms
12 ¢ 16 ST G4 o IR 50€ ITS I QY T
T [wfb JruRE o Ay

A.6Q) B.12Q C.18Q0 D.240Q
PR & 16
o =S5~ A 5
Q48 /1278 7 45
Ans : D.

b tapfes RbE 220V FReaE it mnsAm
o 30 | 2R 700 9% e e & AR < gn

A. 76.2kWh B. 66.2kWh
C. 56.2kWh D. 46.2kWh
VIt _ 220x03x700
Tt He =462 kWh
70000 1000
Ans: D.

TN b= vt -_% g =3x98x3 —%x 9.8 x (3)°

=44.1m

Ans : A,
MWWSNMWWMWWSWY
W | JuT =1 I

A. 2g B.2.66g C.1.66kg D. 2kg
At im s L s 1.66kg
a3

sC. :

90 czfer s @3l MY 10 m/s @t Rofe e i

At 30 @fe oEw wEet e v om | e Aw

o1& ¥ core "l oifefba et e e

A.30m/s B.20m/s C.100m/s D. 120 m/s
[T : g - mau =0

=>90x1£l-—30xu;=0=u;—30ms
Ans: A.

mmUﬁMWmm|me
ol (59 300 T obT @ T v =TS TRy

40. R R @I TR 5 EBR g W’k 350 RbR/ cTEe
@R T el @) W @@ T @@ @ 700

A.fiet B.owde  C. femed D, omed FABRYCTS T & TGTH TR 100 T4 4% 3 W A
TN : B : @ T m TRATT THT (57 BT A | @ A.1200m B.1000m C.10m D. 120m
@ I I § P T (SHPS TEW FeW! n A

s _ > o 2ot i g
m-a'r.wﬁaﬂ;mw‘j:ﬂw g “l i
_ . m 1 5 8=NA=100x10= 1000 m
Ans: A. Ans : B.

33, TR AR (W W AR, O G TR AR AR | 41, 1+3+5+9+......... qra 42 ©% o Fo7
e | A. 85 B. 83 C.84 D. 43
A.Fiet  B. 3w C. 53 D. I@T 93¢ T T 9, a= 1 9Rd=3-1=5-3=2

b_m‘ : 3 | | [nwaom=a+m-1)d
RO @ WA Ty WA T O IGM A | | e |+ (42~ 1)2 =83
LCER R CH . n
A. I IR B. @re AT LAns ; B,

C. 9= 9@ D. @053 ATFATS ST




42. (2x +y, 2) @3 (2, x - 2y) TrEe 130 A9 T,
(X, y) @3 95 ¥
(3 2)

H 2 oy
A (.3_3}]3 [.1‘_:] C. D. (5._:J
5's 5 LYY e L™

I : 2x+y=2=4x+2y=4....... (i)
GREX-2y=2 . (i)

AT, dx+x=4+2=>x=

[T AR

6 12 -2
¥ —+ _—_—=—
A r y=2=y=2 o
| Ans : B.

43. R I YW GF 9= A = {1, 1, 0, 2} f:A—>R Frerd
r(x)=x’+x—umwmfavsmf(x)-mmmafsr

:2017-2018 (317)

J.tan: xdx = ?

A tanx—x+c¢
C.cotx x+¢

B. cotx +x + ¢
D.tanx +x+¢c

T Jtanzx dx=.[(sec2x—l)dx=tanx—x+c'
Ans : A.

dx
43 =9
48 pe—s
. 24l—x+c B. =1/241-x +¢
C.1/24/1-x +¢ D. =241-x +c¢

dx 1
UM =2 dx=241-%x.——
j'\ll—x "‘2\(1~x - ¥ (—1)+C

A(L25) B IIS)C(123}D(1 2,3) SR i,
oM < f(x) =X’ +x - 1 Ans : D. :
fl-l)=1-1-1==1
f)=1+1-1=0"" fxindx=wr
f0)=0+0-1==1 1 I i -
R2)=4+2-1=5 A. ;len(x]— —x'+¢ B. 5% In(x)+ S X te
. @e=(-1,1,5) 2 ]2 : 1
Ans : B. C,;len{x}—zx2+c D.Ex“‘ln(x}+zx:+c
lim—mml'? > d
= K T[T lendx=lanx dx—J‘{—-—lanx dx} dx
A 1/4 B. 1/2 C.-1/4 D.-1/2 dx
J <k o P 1 2 e 2 2
e 1)_(' x+1) =tnx -] L2
x30 X x>0 x(\/hx +1]. 2 xnio D
: T=x—=1. . =1 1 2 2 2
= lim T & X TR e e
x—0 x \/1 x-:) - 0+1 2 = EX-T~IE dx= 3 Inx 4 +c
Ans : D. Ans : C.
g i 1-cosx mxy'=czwﬁ1@,x-wmx=aex=bm1ﬂfb‘ﬁm
W IR R CR T
= 2 SO R » . (b))
A. 1/4 1 B. 173 - C_12 _ D.1/2 A @ ln| bJ B. & |n[?'
T ¢ L o = fim e = i SSX 1 L i '
x—0 x x—=0 2x x=0 2 - a
Ans - D, C. ¢ In (ab) Dcln!E
dy
3 —_—7 b
1+¢2 dx T - Iydx dx—c [ & _ i xp
A 2tan't B.2sin' t I
C,ECOS_]t D.?.COl-il =cg(lnb-lna)=czln (_I?_J
2t : a
[T - tany—-——l_ sin X = e AR,
2t 2t
=Sy=tan'——— = x=sin"
% 1-t? 1+t°
=2tan 't =2tan’'t SRR RARE-aa e
e x:ﬂ—f—(x)ﬂ aﬂwnmﬁ\z'amm@ .
dx dx ¢ @@ - A & H Unit ¢ &% - D Unit
Ans : Blank. ¢ T3% - B, F, I Unit ¢ 99R - C, C1 Unit

¢ A9 - E Unit + 9239 - G Unit




A AR e R || X

51. 5:10 fifads g woR ¢ Gy IR 938 @

s T o e T A
A.99°30" B.97°15 C.97°30" D. 90°15'
w=wmﬁm«,9=}l—;M—30H<
Y i
= 2><10—30x5=|55-—150|=95
Ans : Blank.
tanx +cotx=2q@Mx="7
T T
A.B=(4n-1)— =(2n+1)—
)% (21 )4
b T
C.O=2n-1)— D.O=({4n+1)—
(2n )4 (4n )4

YL : cotx + tanx = 2

= +tanx =2 = 1 + tan’x = 2tan x
tan x

= (tanx — 1)* =0 = tanx = 1 = %
x=nmn+ = = Z(dn+1)

a 4

Ans : D,

SR] o g ARew 13, 14, 15 20 frgeiba v 6 T
A. 56 B. 84
C.64 D. 80

et - T, A = ,/s(s—a) (s=b)(s—c)

a‘ﬂ'ﬁ's= %}E=21

A= 42121-13) (21-14) (21-15) =84
Ans : B.

nﬁm{é ;]}WN= F

Led

O}H,WMN=?
1

2.0
1 3 0] L1DES 6
A. B.
[20 -1 -2 0 1}
-1 3 0] (-1 3 -1
i | D.
2.0 1] |4 0 2
awt:MN= (1 [ 30
. 2 2 0 1]

1-2 3-0 0-1 Fe3t =
{0-&-4 0+0 0+2] [4 0 2]
Ans : D.
55. 150 IwRFR = SweRe um @ Reela
AT e wra woaf frge o5 3wt Ty

A. 560 B. 460
C. 660 D. 760
Tt : firger e = '°C; = 560

Ans : A.

2017-2018 (318)
56. 160 TS ¢ 50 WS @ 30 veRS ¢ 2B =S

frm Foer g W= 5% = T
A. 54600 B. 45600
C. 56400 D. 64600
Tt : 157 = 3% weed Py @3 5B s 26 v °p,
Tl R S0 = 15w 1 T |
. femym e = PP, x °P, = 54600
Ans: A.

57. RAJSHAHI %oz Ifereiis @3 fimw +% 9w
HISIA TP

A. 10080 B. 10040
C. 10060 D. 10050
[t : RAISHAHI ¢ 87 3, A @92 H =g 216 3= |
1 ’
. fam A = i=]ll108»l]
212
Ans : A.
1+x
58. l—mﬁgﬁw X G F?
A. 8 B. 6 C.4 D. 2
[t ——-—aaﬁqﬁmx 3 R = 2.
x”nﬂw 2
Ans : D.
59. y =sin9%0° T y <3 qF FE7
Al B2 O D.0
[T : y = 5in90° =
Ans : A.
60. sin 240° g8 T ¥57
A2 B C.0 D, -39
3
TN 5in240° = sn(2 x 90° + 60°) = - sin60° = —~
Ans : D.
AG, 4), B(-3, —4) @ C(0, 0) T PR% N B
R g ¥
A.5 B.2
e:1 D.0
TN OB = /(0+3)2 +(0+4)} =5
Ans : A,
3y = 9x aefSa P =g s x wowa Bol A Repre wowe
W 6 T AAOP G owag™ 397
A2 B.9
C.12 D. 6
T : G, 3y = 9x = y = 3x
R L R
0OA 6
.'.m=-;-x2x6=6 0 A
Ans : D.




_—-—-_-—____-_._-—_.____—________—__-_-—

B A(12, 3), B(2, 3) @ C(~11, 2) = firgrem o A§ ¥’ — 10y + 5x = 0 *rRrrea e Rz g1es =77

o= T AABC @7 Cvar® TS A. (0,0) B. (5,0)
A. 6 B.4 C. 12 D. 5 C. (<5, 5) D. (5, 5)
i A=if12 2 -11 12 Ty — 10y + 5x =0
; 213 300 =y — 10y +25=—5x+25
-5 =-5(x-5
= 1 (36+4-33-6+33-24) g g
f :>(y-5)2=-4.z(x—5)
=—(10)=5 5
2 =>Y'=-4 =X [y-5=Y e x-5=X @]
Ans : D. 4
ﬂ,-=mx+cmﬁmﬁ1m(u,3)m(n.—4) A %)
R g T o e W R e T as Y ——Mmmwmﬂﬁa—z
A. y STFE STTEIE B.m=1 M (X, Y) =(0,0)
C.c=1 D, x SUHg FAAEFE =S (x-5)=0dRy—5 -0
Tyt : @aba o= P (x, y) “RfEgs g, ' | =x=5 =y=5
(x = 0)* +(y-3)" = (x - 0)’ + (y + 4)* | Ans : D.

Sy -6y+9=y +8y+ 14

= ldy=-T7T=y=— 1/2; 7 x W0 T | 69' P AN .~

Ans : D, szmwwﬁr .
(0, 0) R ¥e% x + y = 1 G g g ¥ AX+y-4=0 P.x 4y t+4=0
3 C.xX+y¥-1=0 D.X+y -2=0
A. 172 ; B -
2 I y=0 @ =>x T
| @3l gri x wwg T AT W @Fwe x R I
7 v , o B (R y = 2 @Y g = 2 = e
I (0, 0) T, x +y—1=093, o+ y =(2) e A gul Ao |
- 1 Ans : A,
Y = = —_ >
= %z_ﬂz N 0 X +3x+y =0 "R TR YD I6?
Ans: C, I 0 1
P e L e R g p—— . T o
s (—2, 1) R force am, Greifba srlfreeat & C. (0. 4) D.(3,2)
A x=-2y B.x+y=0 LA -
C.x+y=1 D.x+y=-1] piapsckatis e
3 9 1(9
et .)5.+-¥—=1 _—.>x2+2_5x+ szﬂz(i_y)
a b
" Xy N RS
QU a=b O, —+ = =1 & (-2, 1) e s 33 #17%, = x4+=| =4 ~| y—x
a a 2 4 4
-2 1
== =>g==1 L 1 > — 3 et _9
a+a a . =X ——4.E.Y, [X—X+E.Y—)’ 2
Ry
o i s =2 1
kit & 3 b ~a= o T X Y)=(0,~a)
Ans : D. 3 9 1
67. = JoE = (0, 2) 5 R P am, Jalz e By S+ =0y =
AX+y-2y=4 B.x +y -2y=0 A e
C.X’+y +2y=0 D.xX’+y —2y—-3=0 Sx=-=;y=2
T « TR qUaa T
X 4y + 2gx+ 2y = 0. % (~g, ~f) = (0, 2) G

e iE : x" 4y — 4y =0
Ans : Blank.
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1 d=4i+]-k @ b=2i+3j-5k qﬂ?mmm

TS (T O FE?
A. 45° B. 90° C. 60° D. 30°
B G a, b, +a.),b5r +a,b,

o

_ (4D)+(1x3)+ (D))
N 2 412 224 32 4 ()

;0=52.28°

bR R
Vi8.438

Ans : Blank.

72. f(x) = 1 + tan’® &R g(x) = 1 T ACAHS FAF
(gof) f(x) &% 75 F&7?
A. tan B.osin’@ C.1 D. cot’d

It : g g T 1 O1E gofix) = 1

Ans: C.

73. |3x— 4] < 2 et x @3 T F?
A 2<x<T7/3 B.-2<x<1
C.-2<x<-5/3 D.-3<x<5/3

I : [3x - 4] <2

:»—2<(3x—4)<2:>2<33<6':>%4x<2

Ans : Blank.

74. f(x) = X + 2x° + 3x + 6 FeFdT 93 b Ve Fw
cib TS AT
A x-1 B.x+1 Cxtl?2 B.x=12

Gt : option test FF AR (R T & f{x) = 0 AT |
option (C) @ x + 2 =0 = x = - 2 367 R,
f(=2) = (-2) + 2(=2)* +3(-2)+6=0

Ans : C.
1
4x’+81—5=0mxmmm5m
R 67
A.5/3 B. 5/2 C.-5/2 D.-1/3
PRSI b x@3wRA
Al ittt P
|
: =H At x=_2_.L=_E
i 2 2
Ans i C.

2x% — 9x + 4 FIewEE GFF e (x — 4) T 2x° —
9x + 4 = 0 TS x G TH FS?

A. (1. 4) }1[4,%] C.(1,-4) D.(24)

T : (x — 4) GFH BeomS TF GFH T W 4 G €
TR TAP

. R @ = - ———
Ans : B,

e Tt
2 2

h

12x-4= o-aﬂ’tmm(x 4) 9z 72 ==

3x +xt =

(~2, —6) T WoRG Fo?

A. 1 B. -1
C.1/3 D.-1/3

oMt : 3 + x° - 12x — 4

17

A. 10 B. 6
C. 12 D. 15
. [ ten + fargn wien = °C3 = 10
Ans : A.
11! @R TR !

= ——+—+4-4=0
9 9
Ans: D.
(3 0 ﬂ gl
A‘ 2 1 1|B=|-1 3|=C[Cy] T C;5; @
Ll 0 zJ |11
i 7
A7 B.3
C:i5 D. 4

T : A x B =C[Cy)
34 1 1]

=121 "1ix|=r 3

o 2] {1 2

3+0+4 3+0+8] [7 11

=|2-1+#1 2+3+2

1+0+2 1+0+4]

Il

C31=5
Ans : Blank.
79. TITJU Sews Rw 3w Toef =% 1o &1 W
SR WO FEOTS 1 6T Ty 4137
A 12 B.6
C.24 D. 4
[t = 1 ot cea s w—fe 3% 3= 3! = 6 o
FEGA! T |
;. ST W A =6
Ans : B.
80. <3 ~erem @ Rer @t 3@ TEw b fage
wEs F4 TP

oA fRfRveE-«z oo

T TEfTS I AHAIE
¢ @ - A-Unit ¢ ¥4{%® - B+D Unit
¢ 18 - C Unit




